



Incidence of *Clostridium perfringens* in Retail Meat Samples from Ikorodu, Lagos, Nigeria



Ebenezer Adewuyi Ademola^{1*}, Kafilat Oyeibimpe Akeju² & Sophia Itohan Ugbo³

¹Department of Microbiology, Federal University of Health Sciences, Ila-Orangun, Osun State, Nigeria.

^{2,3}Department of Biological Sciences and Biotechnology, Caleb University, Imota, Lagos, Nigeria

*Corresponding Author Email: ebenezer.ademola@fuhs.edu.ng

ABSTRACT

Meat is a widely consumed source of protein that is typically cooked or processed to enhance shelf life and ensure safety. However, contamination with *Clostridium perfringens* is a major cause of foodborne illness due to the ingestion of large numbers of viable vegetative cells following meat consumption. This study investigated the incidence of *Clostridium perfringens* in retail meat samples from selected markets from Ikorodu, Lagos, Nigeria. A total of 75 samples, comprising 30 beef and 45 chevon, were purchased. Detection and isolation of *C. perfringens* were carried out on reinforced clostridial agar supplemented with blood under anaerobic conditions after initial pre-enrichment, and the identification was based on morphological and biochemical characteristics using standard microbiological procedures. The overall incidence of *C. perfringens* in the meat samples was 29.3% (22/75), with an occurrence rate of 31.1% (14/45) in chevon and 26.7% (8/30) in beef. No statistically significant difference ($\chi^2 = 0.17$, $p = 0.68$) in occurrence rates between the meat types. These findings highlight the presence of *C. perfringens* in retail meat sold in markets from Ikorodu and underscore the need for stringent hygiene practices across all stages of meat handling, from slaughter to sale, to reduce the risk of *C. perfringens* foodborne illness.

Keywords:

Meat,
Clostridium perfringens,
Occurrence,
Foodborne illness

INTRODUCTION

Clostridium perfringens is a Gram-positive, rod-shaped, anaerobic, spore-forming bacterium that inhabits the gastrointestinal tract of humans and animals, as well as different environments including soil, water, and sewage (El Bayomi *et al.*, 2020; Grenda *et al.*, 2023). It is a major pathogen owing to its ability to produce different toxins. *C. perfringens* is known to produce four (4) major toxins viz., alpha (α , cpa), beta (β , cpb), epsilon (ϵ , etx) and iota (ι , iap) toxins. Beyond these, more than 15 other minor toxins such as enterotoxin (CPE), perfringolysin O (PFO), necrotic enteritis B-like toxin (NetB), beta-2 toxin (CPB2), and others are known to be produced by this bacterium (Hailegebreal, 2017). Based on the ability to produce a combination of the major toxins, *C. perfringens* has been classified into seven toxinotypes: A, B C, D, E, F and G (Grenda *et al.*, 2023; Rood *et al.*, 2018).

Clostridium perfringens is involved in different intestinal and systemic diseases in humans and animals. The notable among them are gas gangrene or myonecrosis, enterotoxemia, human food poisoning, non-food-related diarrhoea, and necrotic enteritis, among others (Camargo *et al.*, 2024; Kiu & Hall, 2018).

C. perfringens foodborne diseases may occur due to consumption of food contaminated with about 10^6 CFU/g of the pathogen and improper cooking and storage that allow the spores to survive, germinate, and produce vegetative cells and toxins (Issimov *et al.*, 2022; Sabry *et al.*, 2016). A wide variety of food items especially meat and meat products have been implicated in *Clostridium perfringens* foodborne diseases (El Bayomi *et al.*, 2020; Hailegebreal, 2017; Issimov *et al.*, 2022).

Among Nigerians, meat constitutes a major source of dietary proteins, and due to its richness in protein, vitamins, and minerals, it is an excellent source of nutrients and an environment for microbial growth (Issimov *et al.*, 2022; Khalifa *et al.*, 2020). Although other food products such as spices, raw vegetables, dairy products, seafoods, and fish have been implicated in *C. perfringens* foodborne disease, poultry meat, chicken, beef, pork, gravies, and other meat products are the main reservoirs and are commonly implicated in food poisoning outbreaks worldwide (Cortés-Sánchez, 2018; Grass *et al.*, 2013; Hailegebreal, 2017). Spores of some *C. perfringens* are highly resistant near boiling temperatures (Xiao *et al.*, 2025), and they some can survive at 71°C for 2 hours (El Bayomi *et al.*, 2020).

In the United State, *C. perfringens* is a leading foodborne pathogen and ranks second after *Salmonella* among bacterial causes (Grass *et al.*, 2013; Grenda *et al.*, 2023). However, in Nigeria and other developing countries, *C. perfringens*-associated foodborne diseases are rarely investigated, and it is probable that many outbreaks go unreported because the food implicated and patient faeces are not routinely tested for *C. perfringens* or its toxin. In 2016, a severe local food poisoning outbreak caused by *C. perfringens* resulted in 13 deaths and 10 survivors (Adebowale, 2016; AfricaNews, 2016; Premium Times, 2016). Similarly, an evidence-based study by Tizhe *et al.* (2015) demonstrated a 3.5% occurrence of *C. perfringens* in raw beef from retail markets and abattoir-linked sampling in Zaria, Nigeria. In another study on food commodities and faecal specimens, Chukwu *et al.* (2015) reported the isolation of *C. perfringens* with alpha (cpa) toxin gene from meat products in Lagos. These present the evidence of meat and meat product contaminations and the risk of food poisoning due to *C. perfringens*. Therefore, this study was aimed at determining the incidence of *C. perfringens* in retail meat samples from selected markets from Ikorodu, Lagos, Nigeria.

MATERIALS AND METHODS

Sample collection

A total of seventy-five (75) raw meat samples comprising of thirty (30) beef and forty-five (45) chevons samples were purchased from different meat vendors in Ikorodu, Lagos, Nigeria. The samples were collected inside sterile zip-lock bags, labelled appropriately, and transported to the Microbiology Laboratory, Department of Biological Sciences and Biotechnology, Caleb University, Lagos, for analysis.

Sample enrichment and pre-treatment

The initial sample enrichment was carried out by inoculating the meat samples into sterile Brucella broth (Himedia, India). The samples were then pre-treated at 80°C for 15 minutes in a water bath and then incubated anaerobically in anaerobic jar with a CO₂ generating kit (Anaerogen, Oxoid, UK) for 48 hours at 37°C.

Isolation of *Clostridium perfringens*

The enriched, pre-treated meat samples were plated out on blood agar plated by streaking a loopful of the aliquots on Reinforced Clostridial agar supplemented with blood. The plates were then incubated anaerobically in an

anaerobic jar with a CO₂ generating kit (Anaerogen, Oxoid, UK) at 37°C for 48 hours. After incubation, the plates were examined for colonies with a double zone of haemolysis with transparent, flat, leaf-like morphology characteristics of *Clostridium perfringens*, and the colonies were sub-cultured until pure isolates were obtained.

Biochemical characterisation and identification of the isolates

The pure isolates were subjected to biochemical characterisation by carrying out Gram's staining, catalase, oxidase, endospore staining, growth under anaerobic condition only, lipase, lecithinase, motility, indole production, urease production, casein hydrolysis, starch hydrolysis, gelatin hydrolysis, and sugar fermentation (glucose, lactose, fructose, sucrose, and mannitol) tests as described by Jousimies-Somer *et al.* (2002) and Barrow and Feltham (2010). The true probable identity of the isolates was confirmed using the results obtained based on the classical morphological and biochemical characteristics of the isolates.

Statistical analysis

Statistical analysis was performed using Statistical Package for Social Science (SPSS) software version 21 (IBM Corp., USA). Prevalence (%) was calculated as the proportion of positive samples. A chi square (χ^2) test of independence was carried out to determine the association between the meat type and the occurrence of *C. perfringens*. Odd ratios with 95% confidence intervals were calculated to estimate the strength of the association, and a p-value of < 0.05 was considered statistically significant.

RESULTS AND DISCUSSION

The occurrence of *C. perfringens* in beef and chevon samples is presented in Table 1. Out of the 75 meat samples analysed, 22 (29.3%; 95% CI: 19.0-39.6%) were positive for *C. perfringens*. Chevon samples showed a slightly higher occurrence rate (31.1%) compared to beef samples (26.7%). However, statistical analysis revealed there was no significant difference between the occurrence rate of *C. perfringens* in the two meat types ($\chi^2 = 0.17$, df = 1, $p = 0.68$). However, the odds of contamination were marginally higher in chevon than in beef samples (OR = 1.24; 95% CI: 0.46 - 3.34).

Table 1: Occurrence of *C. perfringens* in beef and chevon samples

Meat type	No examined	No Positive	No negative	Prevalence (%)	95% CI (%)	OR (95% CI)	χ^2	df	p-value
Beef	30	8	22	26.7	10.8 - 42.6	1.00 (Ref.)	-	-	-
Chevon	45	14	31	31.1	17.6 - 44.6	1.24 (0.46 - 3.34)	0.17	1	0.68
Total	75	22	53	29.3	19.0 – 39.6	-	-	-	-

CI - confidence interval; OR - odds ratio; df – degree of freedom; Ref. – reference category; χ^2 - Pearson's chi-square statistic.

A *p*-value < 0.05 was considered statistically significant.

C. perfringens is one of the most common foodborne pathogens that thrives in high-protein foods worldwide (Sabry *et al.*, 2016). In this study, the occurrence of *Clostridium perfringens* indicates the likely contamination of both beef and chevon samples sold by retail meat vendors in Ikorodu, Lagos. The contamination of the meat samples is believed to have emanated from the carcasses during processing and handling processes such as dehiding/skinning, evisceration, equipment contact, storage, and distribution from abattoirs to the retailers (El Bayomi *et al.*, 2020; Gutema *et al.*, 2021; Khalifa *et al.*, 2020).

Previous studies on the incidence of *C. perfringens* in meat and meat products support the findings in this study and suggest a moderate level of contamination that warrants attention from public health authorities. The observed overall occurrence rate of 29.3% in this study is similar to the 30% reported by Issimov *et al.* (2022) from a study in Kazakhstan. However, it is comparatively lower than 47.5% reported by Coşansu & Ersöz (2021) and higher than 13.53% reported by Hassani *et al.* (2022) from studies carried out in Turkey and Iran, respectively. This finding also suggests that retail meat samples may serve as potential sources and reservoirs of food poisoning illness. Although the mere presence of *C. perfringens* in food is insufficient to cause illness (Hailegebreal, 2017), the presence of the right strain and the right handling conditions can signal food poisoning risk. Not only that, but the dose also matters. According to Issimov *et al.* (2022), consumption of meat contaminated with *C. perfringens* at a level of 10^6 cfu/g may result in food poisoning. Therefore, the presence of this organism in meat poses potential health risks, particularly when the meat is inadequately cooked or improperly stored, as *C. perfringens* spores can survive cooking temperatures and germinate under favorable

conditions, leading to toxin production and subsequent illness (Grenda *et al.*, 2023).

Patel *et al.* (2022) and Birla *et al.* (2018) reported 16% (8/50) and 20% (10/50) incidence of *C. perfringens* in chevon samples from retail market shops in Gujarat and Jabalpur cities in India, respectively, which are lower compared to 31.1% (14/45) reported in this study. Similarly, Tizhe *et al.* (2015) and Jeong *et al.* (2017) reported 3.50% (14/400) and 4.88% (4/82) *C. perfringens* isolation rates in beef samples from markets in Zaria, Nigeria, and Seoul, Korea, respectively, both of which are lower than 26.7% (8/35) recorded in the current study. The slightly higher occurrence observed in chevon compared to beef may be attributed to differences in handling practices, slaughter conditions, or environmental exposure during processing. However, the lack of statistically significant difference between the meat types suggests that contamination may be influenced more by general hygiene practices rather than intrinsic differences between beef and chevon, underscoring the importance of hygienic control measures across the meat production and retail chain. The detection of *C. perfringens* in the meat samples in this study highlights the need for improved hygienic measures during slaughter, processing, and retailing. Similarly, adequate cooking and proper storage practices should be emphasised to minimize the risk of foodborne illness.

CONCLUSION

In conclusion, this study reveals the possible contamination and incidence of *C. perfringens* in retail meat samples. It is only a qualitative assessment; it neither quantifies the bacterium nor determines the toxigenicity of the isolated *C. perfringens*. However, the study presents the meat samples as a potential reservoir of *C. perfringens* food poisoning. It therefore emphasizes the need for improved hygiene measures during slaughter, processing, and retailing. Furthermore, adequate cooking and proper storage practices should be emphasized to minimize the risk of foodborne illness.

Conflict of interests

The authors declare that they have no actual, potential or perceived conflict of interests.

REFERENCE

Adebowale, S. (2016, February 27). 13 die of food poisoning in Abuja |. *The Eagle Online*. <https://theeagleonline.com.ng/13-die-of-food-poisoning-in-abuja/>

AfricaNews. (2016, February 28). 13 die of food poisoning in Nigeria. Africanews. <https://www.africanews.com/2016/02/28/13-die-of-food-poisoning-in-nigeria/>

Barrow, G. I., & Feltham, R. K. A. 2010. Cowan and Steel's Manual for the Identification of Medical Bacteria, 3rd Edition. Cambridge University Press, Cambridge, U. K.

Birla, S., Singh, R. V., Gupta, B., Satish, K. S., Singh, A. P., & Jadav, K. K. (2018). Isolation and Molecular Characterization of *C. perfringens* from Meat Samples. *Journal of Animal Research*, 8(3), 411–416.

Camargo, A., Ramírez, J. D., Kiu, R., Hall, L. J., & Muñoz, M. (2024). Unveiling the pathogenic mechanisms of *Clostridium perfringens* toxins and virulence factors. *Emerging Microbes & Infections*, 13(1), 2341968. <https://doi.org/10.1080/22221751.2024.2341968>

Chukwu, E. E., Ogunsola, F. T., Nwaokorie, F. O., & Coker, A. O. (2015). Characterization of *Clostridium* Species from Food Commodities and Faecal Specimens in Lagos State, Nigeria. *West African Journal of Medicine*, 34(3), 167–173.

Cortés-Sánchez, A. D. J. (2018). *Clostridium perfringens* in foods and fish. *Regulatory Mechanisms in Biosystems*, 9(1), 112–117. <https://doi.org/10.15421/021816>

Coşansu, S., & Ersöz, Ş. Ş. (2021). Incidence and contamination level of *Clostridium perfringens* in meat and meat products sold in Sakarya province of Turkey. *Food and Health*, 7(3), 172–178. <https://doi.org/10.3153/FH21018>

El Bayomi, R., El Mesalamy, Y., Hafez, A., & Ahmed, H. (2020). *Clostridium perfringens* in Meat and Meat Products: A minireview on the Incidence, Public Health Significance, and the Effects of Essential Oils. *Zagazig Veterinary Journal*, 48(4), 340–353. <https://doi.org/10.21608/zvjz.2020.35870.1114>

Grass, J. E., Gould, L. H., & Mahon, B. E. (2013). Epidemiology of Foodborne Disease Outbreaks Caused by *Clostridium perfringens*, United States, 1998–2010. *Foodborne Pathogens and Disease*, 10(2), 131–136. <https://doi.org/10.1089/fpd.2012.1316>

Grenda, T., Jarosz, A., Sapała, M., Grenda, A., Patyra, E., & Kwiatek, K. (2023). *Clostridium perfringens*—Opportunistic Foodborne Pathogen, Its Diversity and Epidemiological Significance. *Pathogens*, 12(6), 768. <https://doi.org/10.3390/pathogens12060768>

Gutema, F. D., Agga, G. E., Abdi, R. D., Jufare, A., Duchateau, L., De Zutter, L., & Gabriël, S. (2021). Assessment of Hygienic Practices in Beef Cattle Slaughterhouses and Retail Shops in Bishoftu, Ethiopia: Implications for Public Health. *International Journal of Environmental Research and Public Health*, 18(5), 2729. <https://doi.org/10.3390/ijerph18052729>

Hailegebreal, G. (2017). A Review on *Clostridium Perfringens* Food Poisoning. *Global Research Journal of Public Health and Epidemiology*, 4(3), 104–109.

Hassani, S., Pakbin, B., Brück, W. M., Mahmoudi, R., & Mousavi, S. (2022). Prevalence, Antibiotic Resistance, Toxin-Typing and Genotyping of *Clostridium perfringens* in Raw Beef Meats Obtained from Qazvin City, Iran. *Antibiotics*, 11(3), 340. <https://doi.org/10.3390/antibiotics11030340>

Issimov, A., Baibatayrov, T., Tayeva, A., Kenenbay, S., Abzhanova, S., Shambulova, G., Kuzembayeva, G., Kozhakhiev, M., Brel-Kisseleva, I., Safronova, O., Bauzhanova, L., Yeszhanova, G., Bukarbayev, K., Katasheva, A., & Uzal, F. A. (2022). Prevalence of *Clostridium perfringens* and Detection of Its Toxins in Meat Products in Selected Areas of West Kazakhstan. *Agriculture*, 12(9), Article 9. <https://doi.org/10.3390/agriculture12091357>

Jeong, D., Kim, D.-H., Kang, I.-B., Chon, J.-W., Kim, H., Om, A.-S., Lee, J.-Y., Moon, J.-S., Oh, D.-H., & Seo, K.-H. (2017). Prevalence and toxin type of *Clostridium perfringens* in beef from four different types of meat markets in Seoul, Korea. *Food Science and Biotechnology*, 26(2), 545–548. <https://doi.org/10.1007/s10068-017-0075-5>

Jousimies-Somer H. R., Summanen, P., Baron, E. J., Citron, D., Strong, C. & Wexler, H. M. (2002). Wadsworth Anaerobic Bacteriology Manual. 6th ed. Belmont. Calif: Star Publishing Company.

- Khalifa, I., Ezzat, M., & Mohamed, I. (2020). Phenotypic and Genotypic Characterization of *Clostridium Perfringens* Isolated from Cattle Meat. *Suez Canal Veterinary Medical Journal. SCVMJ*, 25(2), 235–2470. <https://doi.org/10.21608/scvmj.2020.44633.1017>
- Kiu, R., & Hall, L. J. (2018). An update on the human and animal enteric pathogen *Clostridium perfringens*. *Emerging Microbes & Infections*, 7(1), 1–15. <https://doi.org/10.1038/s41426-018-0144-8>
- Patel, N. M., Nayak, J. B., Raval, S. K., Brahmbhatt, M. N., Chaudhary, J. H., & Anjaria, P. A. (2022). Prevalence and Antimicrobial Resistance of *Clostridium perfringens* from Various Meat Samples in Anand, Gujarat. *International Journal of Agriculture Sciences*, 14(11), 11840–11843.
- Premium Times. (2016, February 26). Mystery deaths in Abuja community caused by food poisoning — Health board. *Premium Times*. <https://www.premiumtimesng.com/regional/north-central/199091-mystery-deaths-abuja-community-caused-food-poisoning-health-board.html?tztc=1>
- Rood, J. I., Adams, V., Lacey, J., Lyras, D., McClane, B. A., Melville, S. B., Moore, R. J., Popoff, M. R., Sarker, M. R., Songer, J. G., Uzal, F. A., & Van Immerseel, F. (2018). Expansion of the *Clostridium perfringens* toxin-based typing scheme. *Anaerobe*, 53, 5–10. <https://doi.org/10.1016/j.anaerobe.2018.04.011>
- Sabry, M., Abd El-Moein, K., Hamza, E., & Abdel Kader, F. (2016). Occurrence of *Clostridium perfringens* Types A, E, and C in Fresh Fish and Its Public Health Significance. *Journal of Food Protection*, 79(6), 994–1000. <https://doi.org/10.4315/0362-028X.JFP-15-569>
- Tizhe, J. Q., Bello, M., Kabir, J., Musa, J. A., & Lamurde, N. K. (2015). Isolation and Biochemical Identification of *Clostridium perfringens* from Raw Beef Sold in Retail Outlets in Zaria Metropolis, Nigeria. *International Journal of Current Microbiology and Applied Sciences*, 4(11), 23–29.
- Uzal, F. A., Freedman, J. C., Shrestha, A., Theoret, J. R., Garcia, J., Awad, M. M., Adams, V., Moore, R. J., Rood, J. I., & McClane, B. A. (2014). Towards an Understanding of the Role of *Clostridium Perfringens* Toxins in Human and Animal Disease. *Future Microbiology*, 9(3), 361–377. <https://doi.org/10.2217/fmb.13.168>
- Xiao, Q., Luo, H., Chen, C., Xu, B., & Li, P. (2025). Effect of heat activation on the germination of superdormant *Clostridium perfringens* spores: A requirement for elevated temperature. *Food Research International*, 222, 117607. <https://doi.org/10.1016/j.foodres.2025.117607>